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PR 6 4 74 38 36
NBHFHHE 7 3 40 21 19
NBHEHHE 6 4 61 29 32
NBHshH#E 9 4 74 36 38
BEYHE 10 4 72 33 39
R EF S HEE 14 6 156 88 68
s E 5 2 68 36 32
THYHE 7 3 73 35 38
HE S HE 8 4 118 65 53
KiRFHHE 6 2 54 30 24
MRS E 6 4 50 29 21
REERSHE 8 4 94 50 44
REERESHHE 16 7 132 65 67
FEEASHE 8 4 91 43 48
BHRESHHE 6 2 28 10 18
ERILLHE 7 4 57 32 25
WRE—HYHE 4 2 51 26 25
REZHYHE 5 2 43 21 22
WRE=HHE 5 2 53 29 24
REEIE—HHE 13 7 198 95 103
REENIE - HHE 15 7 217 124 93
SEESHE 15 9 234 118 116
RIESHE 12 5 138 67 71

& i 198 95 2,176 1,120 1,056
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